Percent in Fractions Missing Numerators

Name: Score:

Convert the percents and fill in the missing numerators.

0% = o 15% = 550

125% = o 26% = 25 2% =g
2% = ¢ 20% = &3 PR 30
40% = ?5 125% = 440 0% = 330
40% = 75 0% = 360 2% = 144
6.25% = 570 60% = 159 0% = s
125% = 23% = 50 125% =" {60
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Answers

Convert the percents and fill in the missing numerators.

0% 2%00 15% = 2%0

12.5% = 1%34 26% = % 25% = %
25% = % 20% = é—g 39% = 411_?)
40% = % 12.5% = 45?50 0% = 33?30
40% = 15705 50% = %8 5% = 13?64
6.25% = 21750 60% = %8 20% = 12755
12.5% = 11750 23% = 1%30 12.5% = 1%00
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